ERE BTN ERERE (R4. 4~3)
A |B |[ZHEE | IRALEE [ZHEEE |BE BEXS |[BES AE B5=
4] 7 1 20,900| A 20,900(sA&EME| SENRIE JE—#)—XFUAUAR) BIEHLL (SEHCESRRY—R)
4] 20 3,000,000 2979100 |mazna | BISEEE B ESHE (4~98 %)
5] 2 2 4,200] 2,974,900\ | THEBAE [HEHFEKUAUAS)
5] 2 3 494,945( 2.479,955|:aE0E | 6/LIRE L3RI KRR T4 51K, 166,50080) |20224F H &
5/ 9 4 20,900| 2,459,055 |5A&ME| SENRIE JE—#)—XHGAR) BIEHLL (SEHCESRRY—R)
5[17 5 164,000| 2,295,055|/EHE [osrznaERezs [R5 4AD)
5] 23 6 5558( 2,289,497 |:a&wE | SENRIE JE—FIRMERE (4BD) [siEselr/ov—trr o)
5] 24 7 24,632| 2,264,865[AEHE [0 rEBEERES |REERE - BEE2EBHAAR)
5] 26 8 4,200| 2,260,665|5=mE| THEBAE [HEHFBERKGAS)
5] 27 9 5731[ 2,254,934|sa&8E | SEIEE A 3=V ERRE (4B 5) [81E%ELL (RS-032=45—2avX)
5] 31 10 11,000] 2,243 934|sEmzE |11 EEE BHAA ESETPCALE1UT1 TN 664 |R4A. 4~R5. 3
6] 1 11 21,622( 2,222 312|saEHE [osrswaEnes | FEIRER
6] 7 12 20,900( 2,201,412|sa&8E| SENRIE aE—#)—XH (6 A 5) BIEHLL (SEHCESRRY—R)
6] 9 13 1,122] 2,200,290 [zs@=EwHE [11EHE EHRAR 2974
6] 21 14 2,293| 2,197,997 |:@=®z| SHRIE JE—FIRHEE (BAD) [sissmeLcrr/ov—riasvvs)
6 21 15 164,560| 2,033,437[;R/EHE [osrzneEnezs K5 GAD)
6] 23 16 24,632| 2,008,805[AEHE [0 REBEERES [REERE BEEE2EBHGAR)
6] 27 17 5,731[ 2,003,074|saE8E | SEIEE A 5—2yhEER (A YD) |slEsil(Rq-03a=4—2avX)
6] 27 18 4,200] 1,998,874\ | THEBAE [#HEFERK(G6AS)
6] 30 19 130,000| 1,868,874[A%®H% [osrsnarnes ([EFEE
71 7 20 20,900| 1,847,974|5&Hx| SENRIZE JE—#)—XHTAR) BIEHLL (SEHCESRRY—R)
7] 19 21 170,830( 1,677, 144|;REHE [osrznaEnezs [R5 GARD)
7] 21 22 11,455| 1,665,689 (58| SEIRIE JE—FIRHEE (6AD) [sissmeLrr/ov—riasvvi)
7] 25 23 4,200| 1,661,489 |s=m%E| THEBAE [HEHFBERKR(TAS)
7] 26 24 24,632| 1,636,857 [(AEHE [0 rEBaERES [REERE - BEEE2EBH6AS)
7] 27 25 5731[ 1,631,126|sa&8E| SBEIEE A 3=V hERR (6 A5) [81E%LL (RS-032=4—2avX)
8| 8 26 20,900( 1,610,226|s8&8| SENRIE aE—#)—XHE (8A %) BIEHLL (SEHCESRRY—R)
8|22 8 1,610234|FI2  |FIE FE
8] 22 27 2,439| 1,607,795|s@=®z| SHRIE JE—FIRHEE (TAD) [sisseLcrr/ov—riasvvsy)
8|22 28 165,400| 1,442,395|R/EHE [osrznaEnezs K5 TAD)
8|23 29 44,646) 1,397,749 [FAEME 102 REBEERRE [RERRY ELE2RBH6ARS-7AS)
8] 29 30 5731[ 1,392,018|za&8E| SBEEE A 3=V ERRE (7B 5) [8IE%LL (RS-032=4—2avX)
8] 29 31 4,200| 1,387,818|sA=m%| 7/HEBAE [HEFHBERK(BASR) BlEEEL (HEHBREMNERERE)
9| 7 32 20,900| 1,366,918(sA& Mz | SENRIE aE—#)—XHE (9B %) BIEHLL (SEHCESRRY—R)
9] 16 33 165,960| 1,200,958 |sAEHE [osrznaERezs [R5 (BARD)
9] 21 34 2,446| 1,198512|:@=®z| SHRIE JE—FIRMERE (BAD)  [siEsmeLrr/vv—trr o or)
9] 26 35 24,632| 1,173,880[AEHE [0 rEnaERES [REERE - BEEE2EBH(BAR)
9] 27 36 4,200| 1,169,680 |5A=m%x| 7THEBAE [#HEFHBERK(OCAS) BlEEEL (HEHBEMNERERE)
9] 27 37 5,731[ 1,163,949|5az8E| SBEEE A 5—2yhEER (BA YD) |slE%iL(RS-032=4—2avX)
9] 30 38 1,331] 1,162,618[s@=mE [11FEHE BHAS 77 aVR—RY, [CzybRR—LRY, F—T DY
10] 17 40 172,540 990,078|:EMHE [osrznaERezs [R5 QAD)
10] 21 41 6,705 983,373|:a&wE | SEIRIE JE—FIRHEE (QAD) [sisseLcrr/ov—riasvviy)
10] 25 42 24,632| 958,741 [AEHE [0 rEsnaERES |REERE - BEEE2EBH(0AS)
10] 27 43 5731 953010|za&8E| SEIEE A 3=V ERF (9B 5) [BIE%ELL (RS-032=4—23 k)
10{ 7 39 20,900 932, 110|za&wE| SENRIE JE—#U—XE(10A%)  |BIEBLEL(ZEHCESHRRY—R)
10[ 20 3,000,000 3,932,110|mazna [BISEE & BEESHE (10~38%)
10] 27 44 4,200] 3,927.910|sA=®%x| 7TREBEAE ([#HEHFBKU0BSH) BlEEEL (HEHBREMNERERE)
11] 7 45 20,900| 3,907,010(5A&ME| SENRIE JE—#U—XE(18%) |BIEBEL(ZEHCESHRRY—R)
11[10 46 6,525( 3,900,485 | 1/E-HEE |MESNE KEHOH)
11[10 47 2,340| 3,898,145|5a=mx| 2HERE RiEH HHE (14)
11] 17 48 166,800( 3,731,345|3/EHE |osrznaEmnes (M5 U0A )
11] 21 49 3,151] 3,728,194|s:@A=®z| SHRIE JE—FIRHEE 0AD)  [sisseLrr/om—riasvvi)
11] 22 50 24,632| 3,703,562 [SAEME 02 REBEEREE [REREE - EEE2EBE1085)
11] 28 51 5,731| 3,697,831 |sA&mMx| SHBIEE A 3—3yMEHF (108 5) [31E%EL (R4-032=5—230K)
11] 28 52 4,200| 3,693,631|5A=mE| 7TREBEAE [#HEHFBRKU1AS) BlEEEL (HEHBREMNERERE)
12| 7 53 20,900| 3,672,731 |5A&wMx| SEIRIE JE—#U—XHE(128%)  |BIEBEL(ZEHCE SR RY—R)
12] 9 54 130,000| 3,542,731 (A% [oarsnaenes ([RFEE
12| 16 55 175,245| 3,367,486 |sAEHE |osrznaEmRss [R5 U1AD)
12] 21 56 4,010| 3,363,476|:@=®z| SHRIE aJE—FIRHEE 11AD)  [sisseLcrr/or—riasvvsy)
12] 27 57 5,731| 3,357,745|sEmx| SHBIEE A 3—2yMERH (1A 5) [31E%LL (R4-032=5—230R)
12] 27 58 4,200| 3,353,545|A=ME| 7TREBAE |[#EHFBRKU28%5) BlEEEL (HEHBREMNERERE)
12] 27 59 24,632| 3,328,913[SAZEME 02 REBEEREE [BEREN - E4EE2RBE1185)
1|10 60 20,900| 3,308,013 |5A&M| SENRIE JE—#)—XFOAR) BIEFLL(SEHCE SR RY—R)
1[10 61 624,140( 2,683,873|:aEME | 6/LIRE SIRE (T (> BRI M 16200060 2023 B
1117 62 174,220( 2,509,653 |BEHE o rznaEmnss (K5 U2A%)
123 63 3,144| 2,506,509|zA=®z| SHRIE JE—FIRHEE (1289)  [siEseLcrr/om—riasvws)
1] 25 64 25275| 2,481,234|sazwx| 15/AE-HEE |(MHESNE makh (14)
1] 26 65 44,646 2,436,588 |FAEME [10£REBAERRE |Rugpy BreeRRN (1285 12825H5%)
1] 27 66 5,731 2,430,857 |siEmMx| SHBIEE A 3—2yMEGH (128 5) [31E%LL (R4-032=5—230K)
127 67 4,200| 2,426,657 |z | THEBAE [HEFBEKOAS) BlEEEL (HEHBREMNERERE)
1] 31 68 6,765| 2.419,892|:=mz [11FEHFEE EBEAS I5vhIrAIL,.  |OE—A#R
2| 3 69 497,860( 1,922,032|sa&8E | 6/LIRE LR KRR T4 16150080 [2023EHEE
2] 7 70 20,900 1,901,132|sA&mMx| SENRIE JE—#)—XHE(2AR) BIEFELL(SEHCE SR RY—R)
2] 8 71 1,280| 1,899,852 |5a& | 2HERE makh HHE (14)
2|20 11 1,899,863 FIE  [FIR FE
2|20 72 168,060| 1,731,803 [;=EME [osrzraEmezs |KE5EOUAD)
2| 21 73 5,692 1,726,111 [sA&mz| SENRIE JE—FIRAMERE DBD) [siEselGr/vv—trr o)




A |B |[ZHEE | IRALEE [ZHEEE BE BEXS ([BRESH ABE B5=

2| 21 74 24,632| 1,701,479[AEHE [0 rEnaERES [REERE - BEE2EBHAY)

2|27 75 5731[ 1,695,748|5a&8E| SBEIEE A A— Vb EGF (DB R) |slEsil(Rq-03a=4—2avX)
2|27 76 4,200] 1,691,548|s=mx| THEBAE [HEHFBERK(CASR) BlEEEL (HEHBREMNERERE)
3] 2 77 44220| 1,647,328|sR=m% [11FEHE alys—

3] 7 78 20,900( 1,626,428|:a&8| SENRIE aE—#)—XH (A %) BIEFLL(SEHCE SR RY—R)
317 79 173,520| 1,452,908 |;R=EHE [osrznaERezs K5 2A)

3|22 80 14,021] 1,438,887 8%z | SEIRIE JE—FIRHEE (2AD) [sissmeLcrr/ov—riasvvs)
3] 23 81 24,632| 1,414,255[AEHE [0 rEsnaERES [REERE - BEEE2EBH(2AS)

3|27 82 5731[ 1,408,524|sa&8E| SBEIEE A —3 Vb EGF (A R) |slEsil(Rq-032=4—2avX)
3|27 83 4,200| 1,404,324 |5=mx| THEBAE [#HEFHBERK(BASR) BlEEEL (HEHBREMNERERE)
3] 30 84 6,771] 1,397,553|sA=#% [11FEHFEE EBRE aE M AL BAS, BET—T

417 85 164,560| 1,232,993 [;REHE [osrznaEnezs [R5 (BAD)

4] 21 86 11,914] 1,221,079|sa=®z| SHRIZE JE—FIRHEE (BAD) [sissmeLrr/ov—riasvvi)
4] 25 87 24,808| 1,196,271 [AEHE [0 rznaEREs [REERE - BEEE2EBH(BAR)

4] 27 88 5,731] 1,190,540[sA=mz| SHBIEE A B—2 Vb EGF (BAR) |slE%iL(RS-032=4—2avX)

6,000,019 4,809,479
6,000,000 3 {48
80.16% #ITE




